Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
System: HGB5_HRS16_86_DB5_00% Q0 ~(L+ — L* ) / (L*yy -L* )

BUntton: *ro0;=26/360N" G508y, =2171360 Zyv _ ey —x 1 [ atyy ~a'y]

b*=b* —b*y = a0 [ b*w —b*y ]
Helligkeit L* T Craparlata +b% 12

(C*abam

“Blintheit C*ap o




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
System: HGB5_HRS16_86_DB5_00% QL ~(1+ —Lx ) / (L*yy -L* )

BUntton: *ro0;=26/360N" G508y, =2171360 Zyv _ ey —x 1 [ atyy ~a'y]

b*=b* —b*y = a0 [ b*w —b*y ]
Helligkeit L* T Craparlata +b% 12

A

(C*apam

L*y)
'Buntheit C*ab,a




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
System: HGB5_HRS16_86_DB5_25% Q0 ~(L+ — L* ) / (L*yy -L* )

Buntton: h*z,57=42/360;h* GGZng:230/36an:a, —aty ~ e [@%y — 2]

b*=b* —b*y = a0 [ b*w —b*y ]
Helligkeit L* T Craparlata +b% 12




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
System: HGB5_HRS16_86_DB5_25% QL ~(L+ —L* ) / (L*yy -L* )

Buntton: h*z,57=42/360;h* GGZng:230/36an:a, —aty ~ e [@%y — 2]

b*=b* —b*y = a0 [ b*w —b*y ]
Helligkeit L* T Craparlata +b% 12

{C*abam
L*m)
Buntheit C*ap o




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
System: HGB5_HRS16_86_DB5_50% Q0 ~(L+ — L* ) / (L*yy -L* )

BUntton: 50 =59/360" 75, =2441360 Z0v _ ey e [ aty —a'y]

b*=b* —b*y = a0 [ b*w —b*y ]
Helligkeit L* T Craparlata +b% 12

(C*abam
L*m)

Buntheit C*ap o




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
System: HGB5_HRS16_86_DB5_50% QL ~(1+ —Lx ) / (L*yy -L* )

BUntton: 50 =59/360" 75, =2441360 Z0v _ ey e [ aty —a'y]

b*=b* —b*y = a0 [ b*w —b*y ]
Helligkeit L* T Craparlata +b% 12

Cabam
L*m)

Buntheit C*ap o




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
System: HGB5_HRS16_86_DB5_75% Q0 ~(L+ — L* ) / (L*yy -L* )

BuNMton: h* 7 =75/360/M" e, =258360 Lo _a k. [aty - aty ]

b*=b* —b*y = a0 [ b*w —b*y ]
Helligkeit L* T Craparlata +b% 12




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)

System: HGB5_HRS16_86_DB5_75% QL ~(L+ —L* ) / (L*yy -L* )

Buntton: 1*g75,=75/360;1" Ggag,,=258/360
a

Fa* —aty = Fap [afw -a'y ]
b*a=b* —b*y = '*l;n* [ b'zw ‘/Zb*N]
* =[ a*. * 1
Helligkeit L*T Crapalata +b%’ ]

L*m)

Buntheit C*ap o




